

#### Q-165380

**Generated Date**: 10/30/2024 **Expiration Date**: 11/14/2024

Account Name: Fort Bend County - HQ @ Richmond, TX

Opportunity Name: RENEWAL: VEEAM: DIRECT

**Opportunity Number:** OP-83972

Contract Number: NWN\_NATIONAL Choice Partners 21/031KN-43\_IT Technology & Related Service

#### **Client Contact Information**

Primary Contact: Clay Elliot

Contact Title: Director/Controller
Contact Phone: (281) 341-4588

Contact Email: clay.elliott@fortbendcountytx.gov

**BILL TO** 

Fort Bend County - HQ @ Richmond, TX

301 Jackson St Richmond, TX 77469

#### **NWN Carousel Contact Information**

**Primary Contact:** Kerry Cox

Contact Title: Account Executive Tola
Contact Phone: (281) 596-1113

Contact Email: kcox@nwncarousel.com

#### **SHIP TO**

Fort Bend County - HQ @ Richmond, TX

301 Jackson St Richmond, TX 77469

#### **Product**

#	ITEM	DESCRIPTION	START DATE	END DATE	QTY	UNIT PRICE**	EXT. TOTAL
1.	VEEA-P-VBO365-0U-SU2AR-00	Veeam Backup for Microsoft 365. 2 Years Renewal Subscription Upfront Billing & Production (24/7) Support. Public Sector.	11/3/2024	5/20/2027	1000	\$35.50	\$35,500.00
		Contract#: 02886829					
2.	VEEA-P-ADVVUL-0I-SU2AR-00	Veeam Data Platform Advanced Universal Subscription License. Includes Enterprise Plus Edition features. 2 Years Renewal Subscription Upfront Billing & Production (24/7) Support. 10 instance pack. Public Sector.	10/16/2024	5/20/2027	13	\$2,810.35	\$36,534.55
		Contract#: 01988995					
3.	VEEA-V-VBO365-0U-SU1MR-00	VEEAM BACKUP FOR MICROSOFT 365. SUBSCRIPTION UPFRONT BILLING & PRODUCTION (24/7) SUPPORT- RENEWAL MONTHLY COTERM.	11/3/2024	5/20/2027	6000	\$1.64	\$9,840.00
		Contract#: 02886829					
4.	VEEA-V-ADVVUL-0I-SU1MR-00	VEEAM DATA PLATFORM ADVANCED UNIVERSAL SUBSCRIPTION LICENSE. INCLUDES ENTERPRISE PLUS EDITION FEATURES. SUBSCRIPTION UPFRONT BILLING 10 INSTANCE PACK. &	10/16/2024	5/20/2027	78	\$130.11	\$10,148.58

		RENEWAL MONTHLY COTERM.					
		Contract#: 01988995					
5.	VEEA-V-ADVENT-VS-POARE-00	- ANNUAL BASIC MAINTENANCE RENEWAL EXPIRED-VEEAM DATA PLATFORM ADVANCED ENTERPRISE. FOR THOSE WHO OWN VEEAM DATA PLATFORM ADVANCED ENTERPRISE, BASIC SUPPORT SOCKET LICENSING PRIOR TO JULY 1, 2022.	10/16/2024	5/20/2027	34	\$662.52	\$22,525.68
		Contract#: 01988996					
6.	VEEA-V-ADVENT-VS-P024M-00	- (24/7) MAINTENANCE UPLIFT, VEEAM DATA PLATFORM ADVANCED ENTERPRISEONE MONTH. FOR THOSE WHO OWN VEEAM DATA PLATFORM ADVANCED ENTERPRISE SOCKET LICENSING PRIOR TO JULY 1, 2022.	10/16/2024	5/20/2027	374	\$12.45	\$4,656.30
		Contract#: 01988996					
7.	VEEA-V-ADVENT-VS-PP1AR-00	1 year of Production (24/7) maintenance renewal for Veeam Data Platform Advanced Enterprise.	10/16/2024	5/20/2027	34	\$806.02	\$27,404.68
		Contract#: 01988996					
8.	VEEA-V-ADVENT-VS-POPMR-00	MONTHLY PRODUCTION (24/7) MAINTENANCE RENEWAL (INCLUDES 24/7 UPLIFT)-VEEAM DATA PLATFORM ADVANCED ENTERPRISE. FOR THOSE WHO OWN VEEAM DATA PLATFORM ADVANCED ENTERPRISE SOCKET LICENSING PRIOR TO JULY 1, 2022.	10/16/2024	5/20/2027	238	\$67.17	\$15,986.46
		Contract#: 01988996					
						Total:	\$162,596.25

<sup>\*\*</sup>The Monthly/Unit Price shown above has been rounded to two decimal places for display purposes. As many as eight decimal places may be present in the actual price. The totals for this order were calculated using the actual price, rather than the Monthly/Unit Price displayed above, and are the true and binding totals for this order.

Financial Summary			
ITEM	TOTAL		
Quote Sub-Total:	\$162,596.25		
One-Time Ext. Total:	\$162,596.25		

Billing and Payment Terms			
ITEM	TERM		
Billing Terms:	Recurring - Prepaid		
Payment Terms:	Net 30 Days		
Payment Schedule:	100% on Completion		

## Accepted and agreed by:

Fort Bend County - HQ @ Richmond, TX	NWN Corporation		
Kfliconge	Circohura		
Signature	Signature		
KP George			
Name	Name		
Fort Bend County Judge			
Title	Title		
November 12, 2024			
Date	Date		

### **Statement of Confidentiality**

This quote has been developed by NWN Carousel and is NWN Carousel's proprietary trade secret and business confidential information. This quote may not be released to another vendor, business partner or contractor without prior written consent from NWN Carousel.

**Additional Information** 

Funding available totaling \$162,596.25

# **CERTIFICATE OF INTERESTED PARTIES**

FORM **1295** 

1 of 1

					1011		
	omplete Nos. 1 - 4 and 6 if there are interested parties. omplete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.			OFFICE USE ONLY CERTIFICATION OF FILING			
1	ame of business entity filing form, and the city, state and country of the business entity's place			Certificate Number:			
	of business.  NWN Corporation		2024	4-1232635			
	Houston, TX United States		Date	Filed:			
2	Name of governmental entity or state agency that is a party to th	e contract for which the form is		10/29/2024			
_	peing filed.						
	Fort Bend County				Date Acknowledged: 11/12/2024		
3	Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided		fy the c	ontract, and prov	vide a		
	Choice Partners 21/031KN-43						
	Regarding Requisition # 241863, Veeam products utilizing Ch	noice Partners 21/031KN-43					
4			Nature of interest				
•	Name of Interested Party	City, State, Country (place of busi	ness)	<del> </del>	(check applicable)		
				Controlling	Intermediary		
5	Check only if there is NO Interested Party.						
6	UNSWORN DECLARATION						
	My name is	name is, and my date of birth is					
	My addrace is						
	My address is(street)	(city) (	state)	(zip code)	(country)		
	I declare under penalty of perjury that the foregoing is true and correct	at.					
	Executed inCounty	v. State of	)	dav of	. 20		
		,, 511 110		(month)	(year)		
	Signature of authorized agent of contracting business entity (Declarant)						